
 

 

The meta prompt asked for a kind of statistic. The title was "Modes of Transportation" and you 
had 6 types of transportation in the grid. That was all you had, but also all you needed. The 
word "mode" has a different definition than the one used in the title - it can also be the most 
common data point in a sample. This statistical definition should've caught your eye because of 
the meta prompt, and if you took the most common letter from each of the transportation entries 
(taking the mode of the transportations), it spelled out MEDIAN, which has a transportation-
related definition (divider in a road) and it is also a kind of statistic.  


